
17/11/23 MATHID5OATutorial

Announcements :

-HW5 due 20/11

Reall : The (Sequential Criterion)
: f :AIR->R

,
c is a cluster pt - of A .

TFAE :

1) Mif= L

2) Forevery sequence (Xul[A
that converge

to c s.t . XnFC forall neN , the

sequence (f(xn)) converges & L.

The (Divergence)
: ACR ,f :At R

,
ceR isa cluster pointof A .

thenfalse not
-

have a hint att if E (xn) <A st. Xu+C UneNs Sot . Xutc but
If(xn) does notconverge.
: Show using 2-1 definition and by the sequential criteria the fillowing
trt : In (72020 st.

Vaceo Esco
.
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